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AaHER (XF)

12812 (H)
Ad—hk Ba—Fk
1[10.00] /\F&& vs FAIZ KIBI-2 vs H &
2 - 19 - 7
11 { o ~ g } 27 2 { ~ g } 15
2(10:35] # & vs SUNRISE F K B vs EHE
0 - 2 2 - 16
4 { 4~ s } 7 2 { 0 - 6 } 22
3[11:10 FAIZ vs B = J\IEE vs KIBI-2
- 1 26 - 2
26 { ~ 0 } 1 50 04 ~ } 6
4[11:45| SUNRISE F vs =l B X s
- 21 1 - 18
4 { 4~ o } 45 5 { . } 24
5[12:20] BRAOU vs & B |&sax4—n—ys .% "
2 - 6 10 - 0
6 { 4 B 1 17 16{ 6 B } 6
6[12:55| HLA vs L JI KIBIF1  vs SUNRISE jr
4 - 9 0 -
8 { v } 4 { 0 } 30
7[13:30] HIB vs MNDOBH=E ALY s
2 - 6 6 - 13
4 { 2ol } 13{ o } 21
8[14:05] & E s ®roxt—1—| BEOU s
1 - 8 2 - 6
6 { ~ 10 18 6 { . }
ol14:40| I JII vs SUNRISE jr| HZA s KIBI 1
0 - 7 8 - 6
s{ ;- } 2{ { = %}
10[15:15] MADOBHE v H2B vs ALY
0 - 2 - 15
2 { ) _ } 64 4 { ) _ 18 } 33
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HERR (BF) 12818 (L)
KIBI |SUNRISE jrl HE&U10 Ad—bk Ba—k
KIBI Al X A5 X 1{10:00 KIBI vs SUNRISE jr H 34  vs DANDELIONS
2 - 46|15 - 25 2{0 —28}46 23{12— 0}5
SUNRISE i A1 O A3 O 2 - 18 11 - 5
a6 - 2 40 - 8| [2[1035] T& I ve BBFL—F—X|BBFLoUv—X v FAIZ
— A5 O A3 X 1" - 4 9 - 10
= 30 10 11 27
B@EUI0 107 5] s - 40 {19— 6} {2 - 17}
H 30 |pAnDELIONS| IWADE 3(11:10] HEU10 vs SUNRISE jr IWADE vs DANDELIONS
. B1 O B5 O 4 21 6 - 10
7 8 40 8 16
H 23 - 5|28 - 9 {4—19} {2—6}
DANDELIONS| B! % B3 O 4|11:45|%CROSSOVER A vs BBFL—%—X| #HRF v  FAIZ
5 ;23 . 16 — 8 23{ 167 - 131 14 18{ 162 - 2 } 16
IWADE | % B3 - -
9 - 28| 8 - 16 5(12:20] HEHU10 vs KIBI IWADE vs H 13
I JI| [BBFL—%—x|#crossover A - { 14 - 4 05 o { 0 _ 18 } 28
= A2 O A6 O 11 - M 9 - 10
30 - 10|41 - 12| [6]|12:55|%crossover A vs & I WMEPM s BBFLUOY—X
BBF A2 X A4 X 9 - 14 9 - 0
R 12 4 23 4
—%—=2Z 10 - 30 14 - 23 { 3 - 27 } { 14 - 4 }
#CROSSOVER| A6 X A4 O 7(13:30] HEU9 vs A& H 2@ v aolll
A 12 - 41|23 - 14 10 - 10 5 - 4
14 17 9 11
BBFL>Sv—X|  FAIZ MR { 4 - 7 } { 4 - 7 }
BBF B2 X B6 X 8[14:05| SUNRISEF vs MADbE
LyOr—X 11 - 274 - 23 14 - 2
29 8
FALZ B2 O B4 X { 15 - 6 }
27 - 11 16 - 18| [9[14:40[ponFa=A> s A& H BROU v Bl
B6 O B4 O 2 - 12 14 - 0
8 18 20 9
ﬁﬁ%ﬁ 23 - 4118 - 16 {6 - 6} {6 - 9}
HSU9 A BT [poszaz+r 10]15:15| ZCROSSOVER B vs M DBHE
= AT X A1 O 2 - 6
H=U9 14 - 17|10 - 6 4{2 - 4}10
X H A7 O A O 11{15:50| pr2oEF21=4> vs A =EU9 EBREOU  vs 2
17 - 14 18 - 8 6{2 - 5}10 25{14— 3 .
honE  |A11 X A9 X 4 - 5 1M - 4
=4~ |e - 10| 8 - 18 12[16:25]#&crossover B vs SUNRISE F
2 5 [ &) | Bmou . { 2 - 13 } 2
= B7 X B11 X 2 - 16
! 9 - 11| 7 - 25
= B7 O B9 X
LR I 9 - 20
. B11 QO B O
; ou
i 25 - 7/20 - 9
SUNRISE F| A\ D5 |wmcrossover B
A8 O A120
SUNRISE F 20~ 8|20 - 4
< . | A8 X A10 O
\
MOBE 8 - 29 10 - 4
#ECROSSOVER|A12 X A10 X
B 4 - 2914 - 10




